Chui Yiu Chung  02641683   ACY3261A  Assignment 2                                                                                                


Question 2

ai)

From Yarmouth v France (19 BD 647), whatever apparatus used by a businessman for carrying on his trade, which he keeps for permanent employment in his business is plant. So, there are few distinctions between 'Plant and Machinery' and 'buildings'. Concerning the functional test, plants are those performing an active function while a building has a passive function. And in the Setting Test, a plant is the apparatus with which the business was carried out while a building is the setting in which business was carried out. So, it can be said that building is the "environment" in which the business is carried on and plant & machinery is the "tool" with which the business is carried on.
aii)

The assessment is partly correct. In this case, there are two subjects to be addressed, the roof and the neon advertising sign. For the roof, it is true that it should not constitute plant and machinery as it does not take active function but just allowed the sign to be erected passively. So, the assessor is correct to allow a commercial building allowance calculated on the cost of the roof. But, the cost of the sign should not be the same as the case of the roof. It is because the sign has carried out the function to attract customers’ attention and so, can be treated as plant and machinery. Allowance of the cost of the sign should thus be claimed under this category.
Question 4
a. The French manufacturer is a non-resident since it does not has a permanent business presence in HK. It hires out an equipment to a company in HK with an agreement. It receives annual rental for the equipment ($300,000). It is not covered by s14, but s15 (deeming provisions). Income from the hire or the right to use movable property in Hong Kong is deemed to be arising in or derived from HK form a trade or business carried on in HK. (s15(1)(d)). Therefore, the annual rental receipt $300,000 is subject to Hong Kong profit tax. Section 20B applies. The non-resident is chargeable in the name of the payer. The HK payer is required at the time he makes the payment to the non-resident, to deduct the amount of tax from such sum.

b. Mr. Haywood is a non-resident since he does not have permanent business in HK. He receives royalty income from the New York Publisher, and it is likely that the royalty is used outside Hong Kong.

Receipts for the use or right to use outside Hong Kong of copyright which are deductible in assessable profits of a person chargeable under profit tax are deemed trading receipts (s15(1)(ba)).

The payer is a New York publisher so it is unlikely that the payer get Hong Kong profits tax deduction on the royalty paid to Mr Haywood. Therefore, the sum received by Mr Haywood is not subject to Hong Kong profits tax.

c. The Swiss company receives service income ($200,000) and royalty fee (5% of sales of related products) from the Hong Kong company.

Service Income

The Swiss company advises the Hong Kong company on initial assembly of equipment for manufacturing TV games and received a service income of $200,000.

If the service is performed in Hong Kong, the Swiss company will be liable to Hong Kong profits tax, and the tax payable will be $200,000 x 17.5% = $35,000.

If the service is performed partly in Hong Kong and partly outside Hong Kong, apportionment on a 50:50 basis is possible, i.e. tax payable will be  $200,000 x 50% x 17.5% = $17,500.

Royalty

Receipts for the use or right to use of design in Hong Kong are deemed trading receipts, which are subject to Hong Kong profit tax (s15(1)(b)). So, the royalty from the Hong Kong company is taxable, and s21A applies. 

Assessable profit = $1,500,000 x 5% x 30% = $22,500

Tax payable = $22,500 x 17.5% = $3,938

S20B also applies. The Swiss company is chargeable in the name of the payer. The tax so charged shall be recoverable from that payer in Hong Kong. The Hong Kong payer is required, at the time he makes the payment to the Swiss company, to deduct the amount of tax from such sums. The payer is indemnified against any person in respect of such withholding of tax (s20B(3)).

Closely Connected Residents
It is not clear that whether the Swiss company and the Hong Kong company are closely connected. If the CIR, in his complete discretion, considers that the two companies are substantially identical or that the ultimate controlling interest of each is owned directly or indirectly by the same person or persons, the two companies are closely connected.

S20(2) applies, if the Swiss company carries on business with a resident person with whom he is closely connected, and the course of such business is so arranged that it produces to the resident person less than the ordinary profits which may be expected to arise in or derive from Hong Kong, The Swiss company will be deemed to be carried on a business in Hong Kong, and the profits derived by the non-resident therefrom will be assessed in the name of the Hong Kong company as if it were the Swiss company’s agent.

But, s20 is very specific and limited in scope. In practice, IRD seldom invokes s20 other than in blatant avoidance cases.

Question 5

a. The arrangement between Glory Ltd. and Joyce Ltd involves a contract of service because there is an agreement between Glory Ltd. and Joyce Ltd., services have been carried out under the agreement by Ms. Ho for Mr. Fung and remuneration for the services has been paid or credited to Joyce Ltd. controlled by Ms.Ho. So, Joyce Ltd. is a service company used to disguise an employer-employee relationship, s.9A(1) applies. s.9A(3) exemption is not available as Joyce Ltd. would be provided employment-type fringe benefits and remuneration is on a monthly basis. However, if at all relevant times the carrying out of the services did not, in substance, amount to the holding of an office or employment of profit by Ms. Ho, or, if Mr. Fung is a partnership and Ms. Ho is a partner in that partnership, s.9A does not apply, then, it is an independent contractor. Further information is needed for determination.

b. If the agreement between Glory Ltd. and Joyce Ltd. is regarded as a contract of service, fees paid by Glory Ltd deemed to be income derived by the service provider, Ms. Ho from employment and chargeable to salaries tax. But the payment received by the service company – Joyce Ltd is exempt from profits tax and salary paid by Joyce Ltd to Ms. Ho is exempt from salaries tax.

c. As the remuneration to Joyce Ltd is chargeable to salaries tax by virtue of s 9A, Mr. Fung is liable to comply with the obligation of an employer under s52 i.e. notification of commencement or cessation of employment, filing of employer’s returns in respect of that individual.

d. If Mr. Fung failed to comply with the employer’s obligations, Mr. Fung should ask Ms. Ho to give a statement in writing to him in the form specified that one or more of the following situations are applicable in relation to the agreement:

1) Joyce Ltd. is not a corporate controlled by Ms. Ho

2) All of the specified criteria set in s.9A(3) are satisfied

3) CIR has confirmed in writing that he is satisfied that Ms. Ho is not in substance holding an office or employment with Mr. Fung

He may put up the defence that he relies on a statement in writing given by Ms. Ho in a form specified by the IRD, and it was reasonable for him to rely upon that statement.
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